ATH Name Date

Learning Target: | will solve multi-step linear equations Algebra 1 — Readiness Standard 1 — 8.EE.7b

Readiness for solving systems of linear equations

Session 1: Guided Practice (Whole Group)

1. Say the equation and use number sense to find each solution.

Equation Solution Why?
X+ 3 =5 X = Because +3 =5
What number plus 3 is equal to 5?
X+ 6 = 10 X = Because +6 = 10
X-3 =5 X = Because +3 =25
8-X =6 X = Because 8 - =6
2X = 8 X = Because 2 e = 8
Iv=6 X = ____ Because ~ o = 6
2 2 —

2. a. Is 5 asolution to the equation 2x + 1 = 9?

b. How do you know?

© OAISD, January 2022 4



mEAL}H Name Date

=y

Learning Target: | will solve multi-step linear equations Algebra 1 — Readiness Standard 1 — 8.EE.7b

Readiness for solving systems of linear equations

Session 1: Guided Practice (Whole Group — Cont.)

Definition: The solution to an equation is the value of the variable that makes the equation true.

3. Below are steps to check if X =2 is a solution to the equation 2x + 1 = 5x - 8.
For each solution step, discuss what happened and fill in the missing information.

Draw Write Describe
2Xx+ 1 = 5x -8
+ - 2X+1 = 5Xx + -8 Changed subtraction to “add the opposite”
__ 5x - 8 > +
ii — to model the equation with algebra tiles
? .
++ + ++ — = 202 +1 = 52 + -8 Substituted
++4 ++ —— 2X D> 2 and 5x > 5
++ Z to evaluate each algebraic expression
++
++
44+1 = 10 + -8 Multiplied
. 2 4 and . > 10
to simplify using order of operations
++ + 4+ 5 # 2 Added and Compared
++ + 25 and + >2
5and 2 are
to simplify each expression and check for equality
2 is not a solution Decided
2 is not a solution because the two sides of the
equation are

© OAISD, January 2022 5



mEAL}H Name Date

=y

Learning Target: | will solve multi-step linear equations Algebra 1 — Readiness Standard 1 — 8.EE.7b

Readiness for solving systems of linear equations

Session 1: Guided Practice (Whole Group — Cont.)

Definition: The solution to an equation is the value of the variable that makes the equation true.

4. Below are steps to check if X =3 is a solution to the equation 2x + 1 = 5x - 8.
For each solution step, discuss what happened and fill in the missing information.

Draw Write Describe
2x+ 1 = 5x -8
+ _— 2X+1 = 5x + -8 Changed subtraction to “add the opposite
- — 5x -8 > +
:i -~ to model the equation with algebra tiles
-
?
4+ + || +++ - - 2¢3+1 = 53+ -8 Substituted
+++ +++ - - 2X D> 2 e and 5X & 5 e
+++ - - ; i
to evaluate each algebraic expression
- & P
+++ -
6+1 = 15 + -8 Multiplied
o 2 6 and . > 15
to simplify using order of operations
144+ + + 7 =17 Added and Compared
+++ i + > 7 and + >7
++ 7 and 7 are
++ to simply each expression and check for equality
3 is a solution Decided
3 is a solution because the two sides of the
equation are

© OAISD, January 2022 6



ATH Name

=y

Learning Target: | will solve multi-step linear equations

Session 1: Guided Practice (Pairs)

Directions: Complete the steps to check if the given value is a solution.

Date

Algebra 1 — Readiness Standard 1 — 8.EE.7b

5. Is Xx=2 asolution? or No | 6. Is x=4 asolution? Yes or No
4 -1 =x+5 3x —4 =5x - 10
Ix + -1 = x+5 X+ -4 = 5x+
4« o+ i 45 3¢ 44 5.
-+l =_ _ + 4 2 +
7. Is X=4 asolution? (Ye or No | 8. Is x=7 asolution? Yes or No
2(3x — 4) = x + 12 3X — 6 =5k — 4)
2(3 ¢ + ) = x + 12 X+ -6 =5x+__ )
2( + )g + 12 3« +6 = 5¢ + )
2 )2 _ +6 5 )
9. Is x=6 asolution? Yes or(No)| 10. Is x=5 a solution? Yes or No
2(3x + 1) = 4(x + 3) 3(x +5) = 5(2x — 4)
23+ )= 4+ 3) 3(x + 5)?—' 52x + )
20+ n2a ) 3+ 5L se. + )
2( ) 2 3 )5 )
‘ _ EsC )
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mEAL}H Name Date

=y

Learning Target: | will solve multi-step linear equations Algebra 1 — Readiness Standard 1 — 8.EE.7b

Readiness for solving systems of linear equations

Session 1: Guided Practice (Teacher Notes — Cont.)

Definition: The solution to an equation is the value of the variable that makes the equation true.

3. Below are steps to check if X =2 is a solution to the equation 2x + 1 = 5x - 8.
For each solution step, discuss what happened and fill in the missing information.

Draw Write Describe
2x +1 = 5x - 8 = can beread as
“Became” or “Changed To”
+ __ 2X +1 = 5X + -8 Changed subtraction to “add the opposite”
] — 5x -8 2 5X + -8
to model the equation with algebra tiles
2
++ + +4+ - - 202 + 1 = 5 o2 + -8 Substituted
++ ++ 2x > 292 and 5x > 52
_'::i —_ to evaluate each algebraic expression
++
4+1 = 10 + -8 Multiplied
2¢2 >4 and 52 > 10
to simplify using order of operations
++ + ++ 5 # 2 Added and Compared
++ 4+1>5and 10+-8>2
5 and 2 are not equal
to simply each expression and check for equality
2 is not a solution Decided
2 is not a solution because the two sides of the
equation are not equal

© OAISD, January 2022 9



=y

Name

Date

Learning Target: | will solve multi-step linear equations

Readiness for solving systems of linear equations

Algebra 1 — Readiness Standard 1 — 8.EE.7b

Session 2: Guided Practice (Whole Group)

1. Below are steps to find the solution to the equation 2x + 1
For each solution step, discuss what happened and fill in the missing information.

= 5x - 8.

Draw Write Describe
2X +1 = 5x -8
+ - 2Xx +1 = 5x + -8 Changed subtraction to “add the opposite”
- - 5x — 8 > +
x| — to model the equation with algebra tiles
+ ||l=] — -2X -2X Added -2X to and
(X )= ] _Z to get the terms with the variable
+ e on one side of the equal sign
+X -
0
0
+ - = 1=3x+-8 Removed Zero Pairs
:— +-2x 30 and +-2X > 3X
- to simplify the equation
++ + ——+4F +8 +8 Added 8 to and
++ __*+ to get the term with the variable by itself
+ + - ++
+ - +
+ ++
0
++ + 9 = 3x Removed Zero Pairs
+ + + 8 29 and +82>0
_-:: + to simplify the equation
+
T+ 4+ 3 3 Divided - a'n:| — |:)y 3
F+4 to get the variable by itse
@- =1 3 =x Simplified
+333 and +39X
to find the solution to the equation

© OAISD, January 2022
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mEAL}H Name Date

=y

Learning Target: | will solve multi-step linear equations Algebra 1 — Readiness Standard 1 — 8.EE.7b

Readiness for solving systems of linear equations

Session 2: Guided Practice (Whole Group — Cont.)

2. Below are steps to find the solution to the equation 4(x - 2) = 2x - 4.
For each solution step, discuss what happened and fill in the missing information.

Draw Write Describe
4x —2) = 2x -4
- — - A4X + -2) = 2X + -4 Changed subtraction to “add the opposite”
—=1—- - |l= = 4x-2) > and 2x — 4 >
— to model the equation with algebra tiles
- -
- -
I + -8 = 2x + 4 Multiplied 4 > and 4 >
to eliminate the parentheses
-+x - - +X -
— 2x =X Added -2X to and
— - - : :
L — to get the terms with the variable
- - on one side of the equal sign
- - |~
0
— - 2X + -8 = 4 Removed Zero Pairs
_ = +-2X 2 2x and +-2x> 0

to simplify the equation

+8  +8 Added 8 to and
to get the term with the variable by itself

+ 2x = 4 Removed Zero Pairs
+ + 8 20 and +8>4
i to simplify the equation
++ Ty 2 Divided and by 2
D to get the variable by itself
X =2 Simplified

+2 X and +2>2
to find the solution to the equation

© OAISD, January 2022 13
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(Mélﬂ

Name

Date

Learning Target: | will solve multi-step linear equations

Session 2: Guided Practice (Pairs)

Directions: Complete the steps used to solve each linear equation.

Algebra 1 — Readiness Standard 1 — 8.EE.7b

3. 4 -1 =x+5 4, 3Xx —4 =5x - 10
4x + -1 = x+ 5 3X + -4 = 5x +
X+ -1 = -4 = +
3X = 6 = 2X
X = = X
5. 2(3x — 4) = x + 12 6. 33X -6 =5x - 4)
2(3x + ) = X+ 12 3Xx + -6 = 5(x + )
203X + 2 = X + 12 3X+ -6 = 5ex + .
6Xx + = X + 12 33X + -6 = +
5x = 14 = 2x
X = = X
7. 23x + 1) = 4(x + 3) 8. 3(x + 5) = 5(2x — 4)
2 + 2 = 4e 4e 3x + 5) = 5(
6X + 2 = + 3.— 3!_: 50— Se
2X: 15= +
= X

© OAISD, January 2022
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%ﬁ?ﬁ Algebra 1 Quick Check — Form A

Readiness Standard 1 - 8.EE.7b

Name Date

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

1.

What value of X makes the equation below true?

2x + 15 = 8x — 9

What is the solution to the equation below?

5x +2) = x — 2

© OAISD, January 2022
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@ﬁ Algebra 1 Quick Check — Form A

Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?

2(5x — 4) = 3x + 13

What is the solution to the equation below?

2(4x + 1) = 3(x — 6)
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Giath

Name

Algebra 1 Growth Chart

Readiness Standard 1 - 8.EE.7b

Learning Target: | will solve multi-step linear equations.

Goal: 3 out of 4 correct

Number
Correct

Quick Check Form

v

Intervention

Date

Score

Session 1:

Session 2:

Session 3:

Session 4:

Session 5:

Session 6:

Session 7:

Session 8:

© OAISD, January 2022
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Name

=y

Date

Learning Target: | will solve multi-step linear equations

Readiness for solving systems of linear equations

Algebra 1 — Readiness Standard 1 — 8.EE.7b

Session 3: Guided Practice (Whole Group)

Directions: Below are steps to find the solution to each equation.
For each solution step, discuss what happened and fill in the missing information.
Write Describe
1. 3X+2 = 5X-6
3x+2 = 5X + -6 Changed to Addition 5X — 6 > +
to make it easier to combine like terms
-3X -3X
2 = 2x + -6 Added + > 0 and + > 2X
to get the terms with the variable
+6 +6 on one side of the equal sign
8 = 2x Added + =2 8 and + >0
5 2 to get the term with the variable by itself
4 =X Divided + 24 and + > X
to find the solution to the equation
2. 3(x+2) = 5x—6
3(X +2) = 5X + -6 Changed to Addition 5X — 6 > +
to make it easier to combine like terms
3X+6 = 5X + -6 Multiplied 3 e > and 3 e >
to eliminate the parentheses
-3X -3X
6 = 2X + -6 Added + > 0 and + > 2X
to get the terms with the variable
+6 +6 on one side of the equal sign
12 = 2x Added + > 12 and + >0
2 2 to get the term with the variable by itself
6 = x Divided + 6 and + > X
to find the solution to the equation
© OAISD, January 2022 21



ATH Name

Date

=y

Learning Target: | will solve multi-step linear equations

Algebra 1 — Readiness Standard 1 — 8.EE.7b

Session 3: Guided Practice (Pairs)

Directions: Solve each linear equation.

3. 4x — 1 =x + 8 4, 3X — 4 =5x - 12
4x + -1 = X+ 8 3X + -4 = 5x +
3X + -1 = -4 = +
3X =
X = X = _
5. 3(2x - 7) = x+9 6. 2X — 4 = 6(x — 4)
3(2x + ) =X+ 9 2X + -4 = 6(X + )
32X + 3e = X + 9 2X + -4 = 6eXx + .
:— X:_
7. 2(7x + 1) = 3(x + 8) 8. 2(x + 9) = 5(2x — 6)
= X=_

© OAISD, January 2022
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%ﬁ?ﬁ Algebra 1 Quick Check — Form B

Readiness Standard 1 - 8.EE.7b

Name Date

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

1.

What value of X makes the equation below true?

3x —6 = 8x + 9

What is the solution to the equation below?

3(x + 2) = 5x — 6

© OAISD, January 2022
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@ﬁ Algebra 1 Quick Check — Form B

Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?

2(4x — 6) = 2x + 12

What is the solution to the equation below?

4(3x + 6) = 3(x — 7)
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Name

=y

Date

Learning Target: | will solve multi-step linear equations

Readiness for solving systems of linear equations

Algebra 1 — Readiness Standard 1 — 8.EE.7b

Session 4: Guided Practice (Whole Group)

Directions: Below are steps to find the solution each equation.
For each solution step, discuss what happened and fill in the missing information.

Write Describe
1. 3X+6 = 5x-14
3X+6 = 5x + 4 Changed to Addition 5X — 4 > +
to make it easier to combine like terms
-3X -3X
6 =2X + -4 Added + 20 and + > 2X
to get the terms with the variable
+4 +4 on one side of the equal sign
10 = 2x Added + - 10 and + >0
2 2 to get the term with the variable by itself
5 = x Divided + 25 and + > X
to find the solution to the equation
2. 7X + 3 = 2(X — 6)
7X +3 = 2(X + -6) Changed to Addition 2(Xx — 6) & 2( + )
to make it easier to combine like terms
7X + 3 = 2X + -12 Multiplied 2 > and 2 e >
to eliminate the parentheses
-2X -2X
5 + 3 = -12 Added + = 5X and + >0
to get the terms with the variable
3 3 on one side of the equal sign
5X = -15 Added + 2 0 and + > -15
5_ _5 to get the term with the variable by itself
X = -3 Divided + > X and + >-3

to find the solution to the equation
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DELTA

MATH Name Date
Learning Target: | will solve multi-step linear equations Algebra 1 — Readiness Standard 1 — 8.EE.7b

Session 4: Guided Practice (Pairs)

Directions: Solve each linear equation.

3. X -5=x+09 4, 4 — 7 =7x + 8
5. 34x —9) =x +6 6. X -6 =6(x-273)
7. 2(5x + 6) = 6(x — 2) 8. 2(x + 9) = 7(2x — 6)
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%ﬁ?ﬁ Algebra 1 Quick Check — Form C

Readiness Standard 1 - 8.EE.7b

Name Date

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

1.

What value of X makes the equation below true?

2x + 6 = 6x — 10

What is the solution to the equation below?

3(x +2) = x — 8

© OAISD, January 2022

31



@ﬁ Algebra 1 Quick Check — Form C

Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?

43x + 1) = 3x — 14

What is the solution to the equation below?

43x — 6) = 2(x + 3)
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%ﬁ?ﬁ Algebra 1 Quick Check — Form D

Readiness Standard 1 - 8.EE.7b

Name Date

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

1.

What value of X makes the equation below true?

2x — 10 = 5x + 2

What is the solution to the equation below?

3(x —3) = x+7

© OAISD, January 2022
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@ﬁ Algebra 1 Quick Check — Form D

Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?

42x — 6) = 3x + 11

What is the solution to the equation below?

2B3x + 1) = 4(x — 2)
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